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ALTERNATIVE ENGLISH

( Non-lictional Prose )

Full Marks : 80 . .
Sb

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions very briefly :
1x10=10

(a) Name the title Sir Roger has been given.

(b) What is elocution?

(c) Who was the co-author of Charles Lamb
in Poetry for Children?

(d) Give the meaning of Reverie.

(ej Who was Attila?

(f) Who was Junius?

(g) Who was the first non-European to
receive the Nobel Prize in literature?
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( 2 )

(h) When did Tagore open Vishwa Bharati

University?

(i) Who is a teetotaller?

(j) Name the theory devised by Sigmund
Freud.

2. Answer any five of the following questions :

2x5=.xo

(a) Who was Sir Roger?

(b) Write two features of autobiographical
essay.

(c) Who was Michelangelo?

(d) Write a brief note on Shantiniketan.

(e) Who is a hjrpochondriac?

(f) What is psychoanalysis?

3. Answer any three of the following questions :
10x3=30

(a) What is the author's impression of
Sir Roger's house in the country?

(b) Comment on the use of humour and

pathos in Lamb's essays with special
reference to Dream Children—A Reverie?

A16/536 ( Continued )

( 3 )

(c) What led Rabindrsinath Tagore to write
a letter to Mahatma Gandhi? What sort

of friendship did they share?

(d) State Gandhi's view in support of the
Non-Cooperation Movement.

4. Explain with reference to the context of any
three of the following : 5x3=15

(a) In any case, since they admit that
'scientific analysis of objective reality' is
possible, they must admit that it is
possible to have opinions which are
rational in an objective sense.

(b) Power in all its forms is irrational—^it is

like the horse that drags the carriage

blindfolded.

(c) Everything is good or bad, helpful or
^ deadly not in itself, but by its

circumstances.

(d) *A parrot may by taught to call names'
and if the person who keeps the parrot
has a spite for his neighbours, he may
give them a great deal of annoyance
without much wit, either in the

employer or the puppet.

(e) I had more pleasure in these busy-idle
diversions than in all the sweet flavours

of peaches, nectarines, oranges and
such like common baits of children.

A16/536 ( Turn Over )



( 4 )

5. Write an essay on any one of the following

topics :

(q) India of my dreams

(b) Friendship

(c) )Vomen empowerment

(d) Role of media in nation-building

(e) Disaster management

★ ★ ★

15
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3 (Sem-4) BOD MIL

2 0 16

BODO

( Modem Indian Language )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer in Bodo

1. : 1x10=10

arr^Tn?

("T) tidqw iptVTFRR 31ldlRl

\

(■^) ^ ̂

(^) tnqfiiinMi ti\Pi Iq-imq?

(^) 'McrtHiPi a^p|?

A16/633B ( Turn Over )



( 2 )

(^) ydHWIel ■g^'^TT?

(^) llf^RT ̂  3T1^?

(^) ^MlOPl 1^HT 3TKt I^FTRT^I^ JJ-SM 'TT?

(^) 4m\<i 1^ ....' ^ ^ ̂
sntf

(^) ^ "jW "RtelFRRR <h)<hi1^
^41h1h?

(^) ^rr 1^ 7iwhw«=ii(^

(^) ^fik? 3i51nici

3. ^ "to : 5x4=20

(^) Ink 3TT ^ ^ #ck
"ni^ 3TRt ^ TOR

(I^) 1^TO WHRR smt 'kfk
IkRti ^ TORT ^ ̂  ̂ T^? Iwit
TOik srtf^ntaRi

(tj) "?it 3nR Wtkki "^kRiT ^ tot^
^ ̂flrk Rimi^-h i^kk? totr

A16/633B ( Continued )

{ 3 )

(^) TOR "^TH tori" ■% TOI^ ̂  TOn
TETkk "Rrtto i^kk? kk(#t Rk tor w.

RkTOI

(^) 'kuR 3TOt Ito' wnk ItotI Irok 3R|
kkRI

(R) '^rok to' i? ^BTOR RhRRTR ^
RITR^f RtVTR 1

4. "^TOIRRTOlkk^TOI? "^^TOTRRkRI 10

^T^Rlk ItotI 37Kt 3R| -kklll 10

5. 'kro 3TRt Ito' ^eRRI R TOlkk ^5^
"TOCRRkRi 10

•kUR RTCt Irok 3R| kkR I 10

6. 'irok ̂ xiRh to' 'ariRik' rtor ̂ rrr
R?R§t "TOIRR 1cR I 10

7. 'TOT^t' *TOnR RT^q^kl^
krf^l 10

★ ★ ★
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3 (Sem-4) ASM MIL

20 16

ASSAMESE

( Modem Indian Lan^age )

Full Marks : 80

Time : 3 hours

The figures in the margin indicdte full
for the questions

i I ERR : >xio=>o

(^) CTO?

(^T) *^51 I

(^) ogsrflensRifk ̂

(«) ^ 1" ̂ ?fRR
c^, ̂  ^ ?

(15) 'CWRR' ̂  OT'T ?

A16/539 ( Turn Over)



:  t 2 )

(^) *^5PI%T ^ c^ ̂ ?

(^) WrtsR ^^PRPTW ̂."pRT I

(^) W5' ^iRi<thwi?l^ ̂  1^ ?

^ I ^x4=^o

(^)> 'C^ITO^' C^ ̂

(^51) ^'i\ wbmHT* i$idi5ivj) ̂ am w ̂ ^
t^i

(^) ^®IW<f (^WIVOM
=^^®i i" c^piw, <pi<p ̂ cttPU *4^ t<pR«i ?

(^) ^51^' 91^^ ^ Pr«n I cw^
"^aH^ 'srRiicvs "^if^ "^ej^ ̂

(«) ^fefe C^
viijHidlJf ft, ft'ff I

( 3 )

('^) 9|^ RdI"^ ̂ \ 1

(«) *5t nm^ ft?TO

I

(^) '\S5|><H' 91^ «?p^ \5T^ b'pl^^ t'fd® ftoft
^i«rR<pi-«f c*pc*i^®R ̂ iRjn ?

8 I (^) '^'im •«i^'1>i45 ft̂ .
aft^Pivs 1^ ̂  I io

"smr

X5pj%ii Tra^ (?w«R«R?

(^) *v5r^' ̂  'SjRildy) ^ ̂51^
D\£p<l^<^ "CftSI ^TII^oi^P ̂ lC®Ill>*il "flR ̂

WW

«l ftiT (R C<PlCll "PlR^) : 4x8=^0

. (:^) jl^^t^Pl^Pi^ftft, 1%Ti

('^f) c4raiCW ^spsjpf

(91) '«T9f ̂ ^idJWMr a«(H -pp?!! |

A16/539 (Continued) A16/539

(91) aR^ ifiB w I

vsfRpir

W5' PRps c^ c£PR

■9||r^(.uI OoRR ^^1 I

^o

>0
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( » J

(^) ^Rc^'1 2l^®f : "'PRJt 1^^®T

(?i), ,mm . _ . ..

W ̂  <ii«r^R) '

bo

r.
★ ★ ★

A16—62*/539 3 (Sem-4) ASM MIL

3 (Sem-4) HIN MIL

2 0 16

HINDI

( Modem Indian Language )

( Hindi Natsrasahitsra )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. 3R^ % ̂  ^ ̂  ; 1x10=10

(^) '^1^' % A<q>i<Qq»K f ?

(T5) t^>T^ % 1%^ clt^ ̂  ;3^ cQl^m

(TT) % Wtl^ ̂  t?

(^) # 15^^' ter 3iw ̂  ̂ns^.t?"

(^)

(^) ^ # w iqT

sTmrftcT t?

(^) T335i^ ̂  ^ t?

(^) 3TFR 1^ ^ TO t?

(^) ii<i(ldici wr t?

(^) Iti*^ ̂  ̂crfl •TTO5 ̂  Hi'Mcfi %?

A16/541 ( Turn Over )



I 2 )

2. PinRlfiSdd % 3tR t : 2x5=10

(^) "3fk ̂  ̂[p^RT *ft ̂  ^ sn ̂  %
3^^^ "2;^ ̂  %?" 1^ xn^ ̂

W t?
si

(^) 37T^Mk ̂  ^ TFR «n?

(n) STFT^ ̂  tJ l^chicfl ^ -g^ w ̂  t
3fk ̂ ?

(^) ̂  % 3lcft^ ̂  ^ ̂ 3Tk ̂
^^T?m t?

(^) RT%, ^ l^lcTT ̂  ̂ ̂ ̂jRq
^ ̂ ̂ t? ^ ^

3. RnRlR^d 3R^ ̂  ̂ 1^ ̂  % 3m : 5x4=20

(m) T335T#-^ % 3mm m ^
"^rt^r

(^) '3te#W ^ 3TTfe^ TRT' ̂  Ch«<|d4^
^tf^l

(n) HIH4.<U| # ̂  t TT^ :mft^

(^) ^4^ mi ̂ -1^

(^) mimftwT mif ^ ^ tr
^rt^i

(^) »<chieQ«^K % ̂  ̂ ^ 4ftmi

A16/541 Continued )

( 3 )

4. ^ 3ITfW TRi' fNt % 34 i^Icl^ll^cb
^d,iRh41 ̂  t 3ft #?i^ ̂  hh41^ ^

mc^ f r w ̂  ̂ mfefi iii^ml^d ^ti^i lo

3T«raT

^ ̂  ̂ f ? i^chicQmn % ^ ̂ 3^
^ m^T I?

5. '1^ ̂  RRSF ̂  4lf^ ̂  t? ̂ Ic!^ 3m
10

3T«raT

4Ht'3jvi'4>< ̂  mtom Mtjdisif m iimwi ̂ if^i

6. PHf^fisId 35R0Tt ̂  mm ̂̂^Us^\ : 10x2=20

(^) ̂  mr ^ % ̂siR m
■^ftf^fTT ■ysm ^IdK 4^ 4rtt, ^«l dl-^H %
a^f^i^r # ̂  m? xft^ m ^ ̂
T5<ft ti

3TSim

•54 1^!^ t 3qq% ^ ̂  3Tq^
^ mnaff 1^3iT f i

(^) FT ^ ^ siflwR ^ x^ %
^ m 4^ ^3^... FT cM mr ^ mm t %mT
^ ̂ x^ mmii

A16/541 f Turn Over )



( 4 )

^ cpi... q ̂  ̂
^fT^, ̂  ti^6 afk ̂  aeii<t) I ^ ^

afk wRRZii ̂  3R5R ̂ ittr ̂  1^ ̂
tl

*★★

A16—2200/541 3 (Sem-4) HIN MIL

3 (Sem-4) PSC

2 0 16

POLITICAL SCIENCE

( General )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

Answer either from POLITICS IN INDIA—II

or from INTERNATIONAL RELATIONS—II

( POLITICS IN INDIA—n )

1. Answer the following as directed : 1x10=10

PlCt"! :

(a) Who is the author of the book, My
Country My Life?

My Country My Life

C^?

A16/553 ( Turn Over )



( 2 )

(b) Paul Brass wrote The Politics of India
Since Independence.

( Write True or False j

The Politics of India Since

Independence Paul

Brass-^ I

(  (71 )

(c) Who can transfer the judges of the
Supreme Court?

•

(d) Who is the Chief Adviser to the
Governor?

2[?rR ?

(e) The President can nominate
members to the Rajya Sabha.

( Fill in the blank )

^WpSltSf 7^
^ I

A16/553

( ̂  ^ )

( Continued )

( 3 )

(f) The advocate General of a State is
appointed by the .

( Fill in the blank )

( ̂  ^ )

(g) The Indian Constitution states that

every State can establish a High

Court under Article .

( Fill in the blank )

21(lvsj<t> ^IvSjjvs

( ̂  ̂ ̂  )

(h) In the year 2011, Meghalaya,
Manipur and Tripura established

separate High Courts.

( Write True or False )

(7N™,

(  (7T %rt)

A16/553 ( Turn Over )



( 4 )

(i) Vallabhbhai Patel is associated with

the formation of the 'All India Kisan

Sabha'.

( Write True or False )

"JTR

"Sff^ 1

(  (?T -pPiT )

(j) The Contingency Fund of India Act

was passed in the year
1950/1951/1952.

(Choose the correct' answer)

2. Write very short answers :

-fffp?!! :

2x5=10

(a) Write two merits of pressure group.
2f5i? 'Qcf "1%^ I

(b) Write two executive powers of the
Governor.

A16/553 ^ Continued )

{ 5 )

(c) What are the two special powers of

the Rajya Sabha?

(d) Write two criticisms against the

regional political party Asom Gana

Parishad.

^ ■'SPR Tp\
>imCeilbHl 1%^ I

(e) How are the members elected to the
Rajya Sabha?

3. Write short answers (any four) :

1%5rr (ft :

5x4=20

(a) What is the relationship between the
Parliament and the Council of

Ministers?

(b) Discuss the financial powers of the
Governor.

ftfft ̂ 51^ ^IHlbHI ̂  I

A16/553 / Turn Over )



( 6 )

(c) What is the prospect of regional

political parties in India?

ft?

(d) Discuss the role of pressure group.

SPora C^n§t^ ^ICollbHI ̂  I

(e) What is the role of trade union?

^W ft ?

(f) What is the original jurisdiction of the

Supreme Court?

"RTRTR^R ^ CW]Pi<P ft ?

4. Answer the following questions : 10x4=40

ftn ftn:

(a) What measures have been taken to

maintain independence of the Indian
judiciary?

A16/553 ( Continued )

i 7 )

Or /

What are the features of the Indian

Party system?

v5rW c<iPl5j ft ft ?

(b) Discuss the relationship between the

Lok Sabha and the Rajya Sabha.

CoTf^FTS! "sirsrs

^iceilb^i I

Or /

Discuss the role of the Supreme

Court as the guardian of the Indian

Constitution.

vi)W>vs»|

(c) Discuss the powers and functions of

the Governor.

A16/553 ( Turn Over )
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( 8 )

Or /

Discuss the powers and functions of

the Chief Minister.

(d) Make an estimate of the emergency
powers of the President of India.

Or /

What are the differences between

political party and pressure group?

Tf^r 2{^ "sn^ atcwrp
1^1^?

A16/553 ( Continued )

( 9 )

( INTERNATIONAL RELATIONS—II )

1. Answer the following as directed : 1x10=10

(a) Where is the Headquarters of the

International Court of Justice

located?

(b) Who first coined the term United

Nations*?

cnRsrwm ̂

(c) Who is the author of the book, Politics

Among Nations?

Politics Among Nations

CW?

A16/553 ( Turn Over)



(  10 )

(d) The Non-Aligned Movement was

started in the year 1956/1960/1950.

( Choose the correct answer )

( ^ )

(e) The term of a Judge of the

International Court of Justice is

9/8/15 years.

( Choose the correct answer )

RDl<^<p>l<pcr|^

S5>/V/^<J I

(mi ^ )

(f) Treaty on the Non-Proliferation of
Nuclear Weapons was signed in
(i) 1958

(ii) 1968

(iu) 1978

(iv) 1988

( Choose the correct answer )

A16/553 ( Continued )

(  11 )

(i) ^cj>^v

(ii) MVS

(Hi)

(iv) i t&W

(  ̂ )

(g) The World Health Organization was

established in the year .

( Fill in the blank )

"^I^J Tn^IU^I O'lvs I

( ̂  ^ )

(h) Harare Conference was held in the

year 1986/1987/1988.

( Choose the correct answer )

A16/553 ( Turn Over )

■^y



(  12 )

(i) Jawaharlal Nehru, Abdel Nasser and

Marshal Tito was associated with the

Non-Aligned Movement.

( Write True or False )

I  ( )

(j) The World Trade Organization was

formed in 1995.

( Write True or False )
ici>ei>(t "5^ ''to I

(  <J\ ^ )

2. Write very short answers : 2x5=10

.

(a) Write two aims of International
Monetary Fund.

(b) Write two arguments in support of
^on-Aligned Movement.

^ ̂
I

A16/553 ( Continued )

{  13 )

(c) Write two functions of the World

Bank.

(d) Write two functions of the Economic

and Social Council (ECOSOC).

(e) Write two functions of IMF.

3. Write short answers (any four) :
9

(ft :

5x4=20

(a) Write five basic principles of India's

foreign policy.

(b) Write five millennium development

goals of the UNO.

RceiR^m 1%^ I

(c) Write five techniques of diplomacy.

A16/553 ( Turn Over )



(  14 )

{d) Write a brief note on neo-colonialism.

I

{e) Write five hindrances to

disarmament.

R'^51<p^®R I^FIT I

if) What is the role of UN Security

Council?

1% ?

4. Answer the following questions :« 10x4=40

(a) Critically discuss the formation and

charter of the United Nations.

^ ̂ ̂

Or /

Discuss the concept
non-traditional security.

^

of

A16/553 ( Continued

(  15 )

(b) What do you mean by

non-alignment? Trace its

development.

f% "3«ri ? R-^PI^R

I

Or /

Discuss the role of the UNO in

preserving World Peace.

■R^ c^sTo ^R<pi
^^lldollMf I

(c) What do you mean by arms race?
What are the challenges faced in
controlling arms race?

af«<?nPr5i ^ •4i5i»isi<

Or / ww

What do you mean by colonialism?
Give arguments for and against
colonialism.

^ Rs
■'sn^ R^c"^ 'W 1w I

A16/553 ( Turn Over )
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(  16 )

{d) Discuss the concept of disarmament.
Evaluate the role of the UNO in

addressing the issue of arms control

and disarmament.

"spITRR ̂  I

Or /

Critically analyze the main features of
'global economy'. Discuss the
challenges faced by the developing
countries in a globalized world
economy.

C91H?1^4<1«T aifR

★ ★ ★

A16—55*/553 3 (Sem-4) PSC

3 (Sem-^) BDN

2 O 1 6

EDUCATION

( General )

( Sociological Foundation of Education )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

(a) From which word the term 'Sociology'

has been derived?

'Sociology' 1%

(b) Give an example of 'primary group'.

A16/552 ( Turn Over )



( 2 )

(c) Students in a large classroom is a

group.

(i) social

(ii) primary

(iii) statistical

(iv) associative

(Choose the correct option)

1

(i) m\^<^

(ii)

(Hi)

(iv)

(d) Mention one factor of social change.

(6) What is social disorganization?

(f) "Culture is acquired."

(Write Yes or No)

saill^'xo l"

A16/552 ( Continued )

jIl

( 3 )

(g) Who was the exponent of 'cultural
lag7

(h) Write one characteristic of
modernization.

(i) Mention one cause of imbalance in
education of India.

^ I

(j) Who was Auguste Comte?

Auguste Comte CW\ ̂iIVi ?

2. Write short answers of the following :
2x5=10

(a) Write two aims of Educational
Sociology.

A16/552 ( Turn Over )
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(b) Write two characteristics of social

group.

(c) Mention two functions of culture.

^ "TO ^ I

(d) What is folkways?

1% ?

(e) What is delinquency?

1% ?

3. Wnte short notes on any four of the
:  5,4^20

'siI^Sr ̂  1§pn.

(a) Social interaction

(t>) Primaiy group

2n«?rt^Tf5i

(c) Leadership

A16/552 ( Continued )

{ 5 )

(d) Types of culture

2!^

(e) Child labour

pR9 2lf^

(f) Social* control

>iHiFsr<P R^2j®f

4. What is educational sociology? Describe
the need of sociological approach in
education. 4+6=10

1^? "Pw®

Or /

What is meant by group djmamics? Explsun
the nature £ind educational implications of
group dynamics. 4+5=10

Tf% 5fi^%r®i tt%

£*if^ ^ I

A16/552 ( Turn Over )
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5. Define socialization. Ebqplain t±ie role of

school in the socialization of a child.

4+6=11

%ll I 1*^3^

%n5RH ^ I

Or /

What is social change? Explain the role of
family and school as agencies of social

change. 2+4+4=s

<P"^I I

6. Write about the causes of social

disorganization. Suggest some measures
to prevent social disorganization. 5+5= i

Or /

Write the meaning and nature of 'culture'.
Explain about the relationship between
education and culture. 5+5= n

^ 2{ff^ 1%^ I 9m ̂

^  ̂ I

A16/552 ( Continuedt

( 7 )

What is Westernization? Describe the

impact of Westernization on Indian

society. 4+6=10

2IW W I

Or / WW

What is meant by equalization

of educational opportunity? Suggest
measures for equalization of educational

opportunity in India. 4+6=10

9m^ ^ I

★ ★ ★

A16—59*/552 3 (Sem-4) EDN



3 (Sem-4) ECO

2 0 16
vT

ECONOMICS

( General )

( Indian Economy with Issues of North-E^st )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer i^e following questions
v55f^ #51T ^ %T :

1x10=10

(a) What are the three main sectoral sources
of national income in India?

^^"51

1%1^?

(b) Mention the two main reasons behind
the reduction of cultivable land in India

day by day.

w I

A16/551 ( Turn Over )



( 2 )

(c) What are the two main reasons behind
the changing cropping pattern in India in
recent times?

^lj^5[xs^ I

(d) What is 'rural indebtedness?

(e) What is industrial localization?

1% ?

(f) Mention two demographic characteristics
of Assam.

(g) What is the policy of disinvestment?

(h) What are the two main sources of electric
power in Assam?

wm *1^ ̂  I

A16/551 ( Continued )

( 3 )

(i) State two characteristics of the Assam
economy.

(j) Do you think that private sector
participation in road transport is
necessary in India? Give two reasons.

^ v»hi<:hR» ? ̂  i

2. Answer the following :

XsSi^ :

2x5=10

(a) What is Gross State Domestic Product
(GSDP)?

0^ 1% ?

(b) What is per capita income?

(c) What are the reasons of inter-State
variation of national income in India?

W5#5

1% 1%?

A16/551 ( Turn Over )



( 4 )

(dj Mention the objectives of land reform in
India after Independence.

^CSl^ I

fej Mention two reasons of disinvestment of
PSU in India after economic reforms.

3. Answer any four questions of the following :

£R3(?im ^ 1^ :
5x4«2o

(a) What is jhuming? What are the
advantages and weaknesses of jhuming?

(b) What are the causes of industrial
backwardness in North-East India?

(c) How can infrastructural development
give a big push to economic growth?

A16/551 ( Continued )

{ 5 )

(d) What are the non-institutional sources of
agricultural finances in India?

v»l^V0V5 ^5RT-^I«30|R<P ?

(e) How can economic development reduce
population explosion in India?

«Hv5#5 WR'^UT

^ ?

(f) Mention the different land tenure
systems prevailing in India.

voMvovs "Rl^ I

4. Answer any/our questions of the following :
10x4=40

R?[T R blR^K Rpsfl :

(a) Discuss the trend and composition of
national income in India before and after
economic reforms.

^  vaT^vs^ ̂ ^1%
^ ̂  ̂5nc5n^ ̂  I

(b) What is green revolution? Mention the
reasons behind poor performance of
green revolution in North-East India.

(?|^ R?R 1%? vaMvs^iR (71^
R?RR ̂  ^ I

A16/551 ( Turn Over )



( 6 )

(c) Discuss the role of agriculture in

economic development of India.

I

(d) What are the reasons behind poor
industrial development in India after
economic reforms?

(e) What are the main natural resources of

North-East India and how can they be
useful for economic development?

2f«fR 1% 1% ̂

(f) Discuss the various demographic
features of Assam. How is it related to
socio-economic development of Assam?

wp\vm ^ I

A16/551 ( Continued )

I 7 )

(g) What is occupational distribution? How
does it reflect the trend of economic
development? Discuss.

•^5f5 1%?
itel, ̂ icciioii w I

(h) How can transport, power and
communication help a country in
economic development? Discuss.

■'Rpr <pc^ ? ^ic*^io*ii <p^i I

★ ★ ★

A16—12*/551 3 (Sem-4) ECO
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PSYCHOLOGY

( General )

(Introduction to Abnormal Psychology)

Full Marks: 80

Time: 3 hours

The figures in the margin indicate fuR marks
for the questions

Answer either in English or in Assamese

Answer the following questions as directed :

^  " 1x10=10
\55p5 .1^ :

(a) Write one criterion of abnormality.

1%% I

(b) Name one clinical Psychologist.

(c) Normal behaviour is not equated with
perfect behaviour. ( Write true or false )

I

( W (?? ̂ »1VDJ ̂ P?IT )

A16/561 ( Turn Over )



'  (2)

(d) Write one sociological factor that leads
to abnormality.

(e) Alcoholism is usually referred to

excessive drinking.

( Write true or false )

^1

(  (?7 1^ )

(f) Write one stage in the development of
alcoholism.

(g) The most popular mind-blowing drug is
LSD-50. ( Write true or false )

LSD-50.

(h) I Write the full form of ECT.

ECT^>i^'<^7r>ro5Tf^
(i) Cocaine is one kind of stimulant drug.

( Write true or false )

(j) Suicidal tendency is predicted by social
isolation. ( Write true or false )

I  ( W (?T )

A16/561 ( Continued )

( 3 )

2. Answer in two or three lines : 2x5=10

(a) Define abnormal behariouf.

V  . . .. * .

(b) What is heredity?

(c) What is an asylum?

7

(d) What is environment?

(e) What does addiction mean?

3. Answer any four questions from the
following : ^ 5x4=20

(a) What are the biological causes of
abnormal behaviour?

xsrgFerf^ 1% 1% 7

(b) Write a note on popular misconceptions
about abnormal behaviour.

vsrgivsill^ ^sRfsm ̂

c5i<pi I

A16/561 ( Turn Over)



( 4 )

(c) Explain how drug addiction may cause

abnormal behaviour.

(d) How can drug addiction be prevented?

^ ?

(e) Explain the term 'alcoholism'.

mm w I

(f) What are the major crisis situations
associated with suicide?

©ri^VS 2l«fR

1%?

4. Answer any four questions from the
following : 10x4=4^
vsivs #9! CTOIT mRi^H 1^ :

(a) Explain the characteristics of 'normal*
and 'abnormal' behaviour.

^ •^srgivaif^'

^^TP^IJT W I

(b) Discuss the emergence of scientific
viewpoint related to abnormal
behaviour.

>5n^c| 5ff| ̂

A16/561 ( Continued y

I 5 )

(c) How can you define abnormality of a
person? Discuss. '

^IWlHl ̂  I ^

(d) "Psychological causes often prove to be
the cause for the development of
abnormal behaviour." Discuss.

^ otI«|vo 1" ̂iiJlWlbHl W I

(e) What are the preventive measures for
alcoholism? Discuss.

1% ? ^ I

(f) What do you mean by drug addiction?
Write a note on the various types of
drug.

1%

vsw c5m I

(g) Write an essay on rehabilitation
facilities of alcoholics and drug addicts
in our society.

vSfplH ̂ pijrspo ^«ql>1VQ»

I

A16/561 (Turn Over)



( 6 )

(1^ Describe in detail the preventive
measures for suicide.

«Jic=ii0-ii W I

★ ★ ★

A16^00/561 3 (Sem-4) PSY

3 (Sem-4) HIS

2 0 16

HISTORY

( General )

[ History of Assam (1228-1826 AD) ]

Full Marks: 80

Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in one
word or in one sentence : 1x10=10

(a) Who w;ere the Ahoms?

(b) Who is the author of the book,
A History of Assam?

A History of Assam (v^l

A16/554 ( Turn Over }



( 2 )

(c) Who was the founder of the Koch
kingdom in Assam?

(d) Who founded the Kamata kingdom?

2ff^ ?

(e) Name the Ahom king who created the
•post of Marangi Khowa Gohain.

■sRftefRU <iit^
9

(f) Who was the first Barphukan of the
Ahoms?

(g) When was the Treaty of
Ghilajharighat signed?

A16/554 ( Continued )

I 3 )

(h) What was the main economic activity
of the people of Assam under the
Ahom rule?

■^i^'snUsi?

(i) During the reign of which Ahom king
was the UoidoT constructed?

0) Who composed the Namghosha?

2. Answer the following questions in brief:
2x5=10

RyPrRvs :

(a) Mention two archaeological sources
of medieval Assam history.

"S[«tr5^ ^5TO ^ 2mf|^ "Wf
^ I

AI6/554 ( Turn Over )
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(b) Mention two effects of the Moamaria
Uprising; ■

CTiwfihn ^ aw ^ I

(c) Who were the two Burmese Generals
that invaded the Ahom kingdom?

(d) Write any two effects of the
Vaishnavite Movement on the society
of Assam.

>|i|l^S?vo

I

(e) Write the name of two renowned
historians of Assam.

af^ w ̂  I

3. Write short notes on any four of the
following : 5x4=20

^55]^ ^ ^
1^:

(a) Sukapha's relations with the Morans
and the Barahis

A16/554 ( Continued )

( 5 )

(b) Momai Tamuli Barbarua

(c) Bara Bhuyans

(d) Bar-Raja Phuleswari

(e) Coronation ceremony of the Ahoms

(f) Frontier administrative officers
during the Ahom rule

T1WI5R

4. Write the answers of any four of the
following questions : 10x4=40

VSG1VS R^l ft c*?icii ftn^ :

(a) Give an account of Ahom-Koch
relations.

"^5(1^ C<?l&>|<poi^ ft̂  ft̂ ®f

ft?n 1

A16/554 (Turnover)
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(b) Describe the reign of Ahom king
Sudangpha alias Bamuni Konwar.

(c) Discuss the importance of the reign of
Ahom king Susengpha sdias Pratap
Singha.

'S^

(d) Briefly discuss the reign of
Namarayan. Why is his reign
important in the history of Assam?

(e) Review the reign of Swargadev
Rajeswar Singha.

A16/554 ( Continued )

( 7 )

(f) Discuss the causes and
consequences of the first Moamaria
Uprising in Assam.

^spiSH jm (?ngR%T ^

(g) Analyze the causes of the decline and
downfall of the Ahom rule in Assam.

*IPFR "^5(1^

(h) Give an account of the society and
economy in medieval Assam.

1^1

★★ ★
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BENGALI

( Modem Indian Language )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

bx^o=^o

(?p) ^5n%^ tea

(9t) ^

(^) CW{ -Milll) <\\m- m ?

^ft?

(■5) ?

A16/537 ( Turn Over )
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( 2 )

(^) ̂  (CT-CsPH :

1^P*rf ; "5^ I

(^) ^ (CT-CTO <41^)

*n^; I

(vip)

^ I W :

W

^><«=bo

? (7T>Q^f

ft ft?

W  c^ ^ 1%;^ 7

^5RRf ̂ ^tS3^%s -S'wRit.oi-i ?

(sf) '^' c^iM ̂ 41^ ^ 1%^

1^ ̂«?f (31:^ I

W %i%R^ 5|^ cw{ ̂  c^ :
■^srsjf^^vsivsnf^j £p*i^^—£pi^*n i

(®) 'w' ̂  <1»(;5ff I
A16/537 I Continued )

m

( 3 )

O I RjlPlR^ (71 ^ 2fCW|^ TjjvQ . (jx^=io

(^) ''^l«r ^ ^5I^«?l5Tr 'f^ef fi^sfgjl
^srof^ l" C^ 2PTC5P C5p?}^ i£i^s?||
TO I

(^) OT cS=T ^nsira Ifflte
1^=Tra'-^4l^ ^«f=7T I

(^) ft ? '(Tfcn tofcn' aif

8 I CT C^fCTT "^f^ 2fC5I^ w : (?x^=io

<PW "^1<PJ ■<PW1 :

^ ; >8®f; W; i

C'^) Gi <^|<j»j 5^h1 TOI :

Wi^ ̂  ^*lft;
^ I

(9f) :

(^) ?Jl«n I

(^) €t3 Pi^fPTRi (?T "ppj^ I
(«) ^^Pto^^Pcvs^i
(8) WT (PT c^ (Tfi^ I

(a) (?r^ ̂  I
A16/537 f Oyer )



( 4 )

4 1 CT C^ICTT W : iox^=^o

(^) tTSPf ̂ «f^<ll <J|*£1151 "TRT ̂ ll^'eavoitq
W I

I

(^) tec»[' sKf aiff^ 1^
-9^1 I

I  <?i C^IM W :
^o

(^) '^iRR' c^? '^Tf^'^^91^ 'fen^
1^ ̂̂ 3^' 'Rd*Wi^ra 1^

(2rRR^^ ̂  ̂ ̂
^SRwra^ ^^IRf I

^+(^x^)+(bX8)=^o

('^f) 'm >j(:NiK)iRvs »i^' 7[5\^ ̂  7 i£f^
C5%^^9R:5I^^Pn^cfTf|vg

I  ̂+(^><^)+(bx8)=io

A16/537 ( Continued )

( 5 )

*^l (71 C9IM £R^ C5I^ ;

W C^m

C'^) ^1C>J5J Sflff^

W  ̂ ^|^6T

(^) cv5m (?f5 ^&il^^\pi

★ ★ ★

bo

A16—2800/537 3 (Sem-4) BEN MIL
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NEPALI

( Modem Indian Language )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. : 1x10=10

(is) ^ mm

(Tf) ^

(q) ^

(^) «iiRjciNch ipsr

(^)

(^) 'tR ^TWTT ^^3T3p^|

(•5r) ^ "OfSST v3qi5<u|

(fr) ^rrsj —

(^) 3Rq^ I25n3pt^i

ifi^

AI6/545 ( Turn Over )



( 2 )

2. : 2x5=10

(^)

(^) ̂Z|o5R TTfbw 1^3^l

(Tf) aijspi 1^?

("^) 3R)R^

(^) ch4'MK'4 ^ ̂ 35rTB^ i^3^i
.  I .

3. ̂  xHid^l 3RH^ ̂  • , 5x4=20

(^) 3^^ ciicw4i tnik •

^  ̂ ; 3^01 %T^FqR5 ;
<;iciHi chicil ̂  ; «h'^arft ̂ IT^I

(^) Wrm 1^g^i

(^) 3qyif ^035^1

W  lEmra^ mrsp^i

(:^) aq^jif^ f^^mcb) Wrmr 1^ 3swi 31^

4. xlKciei 3R^ 3tR (V T ^ ;.
10x4=40

(^)' ^^sR 3riiRWiT ^;0ZRr: %-%
"q^? ̂uf^i

A16/545 ( Continued )

( 3 )

(^) ̂  "q33T IIrw 1^ :

(i) ^qr^ ̂

(U) ^qi# ̂iBc^4)I q^wRT

^zii]/ %%2 liR

(^) Hi^qFRq^ qlbw 1^ ̂raqq ^0135^1^1

(^) ^qt# ̂rrqrq^ ̂  ^75^ ̂ ? ̂ 5035^1

(^) '30r' t '^' ̂rrqiqq %-q5^ id¥^?
15n33^i

(^) iiqiH % "^ T ̂  «ti[d qoFRqq

(^) iRqqq^ qfbw 1^ q^iqq WRqjrtt
1^133^1

★ ★ ★

A16—1500/545 3 (Sem-4) NEP MIL
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1.

PSYCHOLOGY r

( General )

(Introduction to Abnormal Psychology )

Full Marks: 80

Time: 3 hours

The figures in the margin indicate JUU marks
for the questions ' .

Answer either in English or in Assamese

Answer the following questions as directed :

^  .i=^ c 1x10=10

(a) Write one criterion of abnormality.

(b) Name one clinical Psychologist.

(c) Normal behaviour is not equated with
perfect behaviour. ( Write true or false )

I

A16/561 ( Turn'Over )
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(2.)

(d) Write one sociological, factor that leads
to abnormality. "

(e) Alcoholism is usually referred to
excessive drinl^g.

( Write true or false )

% r '

(  C=T 1»r^lT )
\

(f) Write one stage in the development of
alcoholism.

(g) The most popular mind-blowing drug is
LSD-50. ( Write true or false )

TSRf&5i lsd-50.

( W (?T ^P?f| )

fh) Write the fiall form of ECT.

ECT ̂ ^PITI

(i) Cocaine is one kind of stimulant drug. .

( Write true or false )

C-plc-^Vi I

( CT "spfSJ jffpfT )
(j) Suicidal tendency is predicted by social

isolation. ( Write true or false )

>511^ I ( 7^^ )

A16/561 ( Continued )

I 3 )

2. Answer in tujo or three lines : 2x5=10

(a) Define abnormal behaviour.

xspgixali^ ^[9^ I

(b) What is heredity?

(c) What is an asylum?

(d) What is environment?

(e) What does addiction mean?

1^ *?

3. Answer any four questions from the
following : 5x4=20
v55I^ ft (TTOTf ftPIT:

(a) What are the biolo^cal causes of
abnormal behaviour?

■^T^Tolft^ ft ft ?

(b) Write a note on popular misconceptiohs
about abnormal behaviour.

^n^<=K ft̂  ^
djft cDm fti^ I

A16/561 ( Turn Over )
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(c) Explain how drug addiction may cause
abnormal behaviour.

(d) How can drug addiction be prevented?

xsiprt^ m ?

(e) Explain the term 'alcoholism'.

(f) What are the major crisis situations
associated with suicide? ,

^91^5 ^I^vs 2f<R

4. Answer any four questions from the
following : 10x4=^^^

(a) Explain the characteristics of formal*
and 'abnormal' behaviour.

(b) Discuss the emergence of scientific
viewpoint related to abnormal
behaviour.

A16/561 ( Continued i

( 5 )

(c) How can you define abnormality of a
person? Discuss. '

^ I ' '

(d) "Psychological causes often prove to be
the cause for the development of
abnormal behaviour." Discuss.

l" ̂K,ein>«il I

(e) What are the preventive measures for
alcoholism? Discuss.

1% ? ^ I

(f) What do you mean by drug addiction?
Write a note on the various types of
drug.

^ ̂ 7
<3^1^ ̂ 1^ cBl^ I

(g) Write an essay on rehabilitation
facilities of alcoholics and drug addicts
in our society.

nSIPIH ^SJT^ ̂ st-xsfpi^ c^|4>|4g|4

■^55TI t^TTf I

A16/561 ( Turk Over )
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(h) Describe in detail the preventive
measures for suicide.

RvO\V»1M W I

★ ★ ★

A16-^.00/561 3 (Sem-4) PSV

3 (Sem-4) HIS

2 0 16

HISTORY

( General )

[ History of Assam (1228-1826 AD) ]

Full Marks: 80

Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in one
word or in one sentence : 1x10=10

■35P5 %i ^ l^rti:

(a) Who were the Ahoms?

(b) Who is the author of the book,
A History of Assam?

A History of Assam ^ '^m^)

A16/554 ( Turn Over )



( 2 )

(c) Who was the founder of the Koch
kingdom in Assam?

(d) Who founded the Kamata kingdom?

<pa<vol

(e) Name the Ahom king who created the
post of Marangi Khowa Gohain.

C^IWT

(f) Who was the first Barphukan of the
Ahoms?

(g) When was the Treaty of
Ghilajharighat signed?

ilim
'ikm

W
i'iM

A16/554 ( Continued )

'  ''fh'/.

I'im

( 3 )

(h) What was the main economic activity
of the people of Assam under the
Ahom rule?

-iWH^wvs wm ^

(i) During the reign of which Ahom king
was the Uoidol' constructed?

(j) Who composed the Namghosha?

'hnwhi'

2. Answer the following questions in brief:
'2x5=10

snjpi^ 15^ :

(a) Mention two archaeological sources
of medieval Assam history.

"51^^ vSppf "^§1^ 2l^VSlI^<p
^ I

A16/554 ( Turn Over )
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(b) Mention two effects of the Moamaria
Uprising.

C5irapi%t ^ I

(c) Who were the two Burmese Generals
that invaded the Ahom kingdom?

CW "SiH (TRT^ri^ ^

(d) Write any two effects of the
-  Vaishnavite Movement on the society

of Assam.

^ I

(e) Write the name of two renowned
historians of Assam.

3. Write short notes on any four of the
following : 5x4=20

W5 figiCTm ft c^ic=iT ^iftSw ft̂  ̂ oBto
ftiai: ,

(a) Sukapha's relations with the Morans
and the Barahis

■

'W

A16/554 ( Continued )

( 5 )

(b) Momai Tamuli Barbarua

w-Mi

(c) Bara Bhuyans

(d) Bar-Raja Phuleswari

(e) Coronation ceremony of the Ahoms

(f) Frontier administrative officers
during the Ahom rule

'TIWPR ft̂ ^imsi

4. Write the answers of any four of the
following questions : 10x4=40

2R£PT^^ "R 1«NT :

(a) Give an account of Ahom-Koch
relations.

I

A16/554 (Turnover)
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(b) Describe the reign of Ahom king
Sudmgpha alias Bamuni Konwar.

"TO

(c) Discuss the importance of the reign of
Ahom king Susengpha alias Pratap
Singha.

21^^ 1%^

(d) Briefly discuss the reign of
Namarayan. Why is his reign
important in the history of Assam?

(e) Review the reign of Swargadev
Raj eswar Singha.

( 7 )

(f) Discuss the causes and

consequences of the first Moamaria
Uprising in Assam.

(g) Analyze the causes of the decline and
downfall of the Ahom rule in Assam.

^spRvo *rPFR ^

(h) Give an account of the society and
economy in medieval Assam.

wm ^ 1^«f

I

★ ★ ★

A16/554 ( Continued ) A16—13V554 3 (Sem-4) HIS
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BENGALI

( Modem Indian Language )

Pull Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

ix^o=^o

(-n) Iten'2n:^ c^p^n::^ ̂

(^) ^lu RC<ife.«Ti ?

(«) nf€¥iR

(^) ?

(^) *t^ *1^, ^ ?

A16/537 ( Turn Over )
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(^) (CT-CW v£I^) :

; "5^ I

(^) ̂ HR (CTtC^

I

(^) :

•5^:^33; I

^ I W :

W ? (R^Q^r

ft ft?

( 3 )

('^f) C^ ^ ^Sft^

(9f) ^«?RT (?I c^K?Tf v£i^ *1^ ̂  1%^
Cwl^^ I

^ *I^'Jir5J^ c^ ̂  C5f^ :
vsjvojR^xsi^Sjll^. 2(»|07j|_2fyf^ I

(«) vs '^«t'--<iiX^»t(:^iiif 1

A16/537 f Continued )

o I CT c^i^ ̂  2J^ ̂  .
4x^=io

r

W  -SOICVO Pt^gj)
1" c^ gpTC^ C5R^ ,ij^«?rr ^

C^RIT« I

(^) gqjsi ^ C5RC^

viIJhiID I

(^) '^-^-^gjvslCH'-^ ft ? *(?fr^ Rd^rd*!' SIC?
^IC^ v£l^^ c^ *^-^-jjoivoldH' ?I»rf

8 1 (?i c^icsTi^ acgw ts^ w : 4x^=^0

(^) RjjRiR^ CT c^ic*<i "51^ "ic^5i "5!^
^C?r *11"9J ?I6^ *PW1 :

^ ; «®r; W ; Tf'Q I ,

xsid^ ̂  ; d^<ji>Rr'9T; ^C^

^1

(91) ^c^ :

(«)

(8) wi (R c^ cm I

((?) CT^ ̂  ^C«1*( I

A16/537 f Turn Over )
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<t I C^TI?Tt ̂  W : ^0x^=^0

(^) >»iic°iiD-ii ^
TO I

(^) tro ̂®T^<ii "^n^ ^trt
TO I

(^) 'OT*! Rctc-I* SI^
«llCG11l>*il <?C5ll 1

(^) 'm te?n' aiif ̂  aifi^ IBsi

^ I (?I c<?1c*il '£S^ Sty?! TO : ^ ̂

Gjrf^rt^r ^ ̂ ̂  to

^ ̂ ̂ ̂ I

^+(^x^)+(^x8)=bo

(^) *2IBI -^IC^lbblRvs *1^' ̂ 51^ #t CTO ?

G3%^ ̂*51251^ ̂ 5n^c|Tj|vQ

^TOI I \+{^^\)+{'i>xs)='^o

A16/537 ( Continued )

r

( 5 )

^\ (71 C<PIC*H

(^) CSm\^ 1^

(^) ^5If#TO «

(^) C^Nm (Trn >&i|^^vo|

★ ★ ★

bo
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NEPALI

( Modem Indian Lan^age )

Full Marks : 80

Time : 3 hours

The figures in the margin iridicate fuU marks
for the questions

1. 3m :

(tt) ^

(^l) xrszT 3Wf ̂

(^) ̂ rrfcim^ T3f33I ^^^^1

mn33^1

(^) 'm mwn

(^) ̂  T3[33T 3c{l^<ui

(??) '1M ^5n3j'-^mT ^

(oi) '^3n#Ei'-Tn I35n3p^i

1x10=10

A16/545 ( Turn Over )



( 2 ) ( 3 )

2. 1^3^ :.

(^)

{la) «^o5W iqrtWfT

(tt) 3?^ ̂  R>I^Hchi

(^) il«hK«4il

(^) ^HWchl ̂  3?2T 1^3^l

2x5=10

5x4-203. ̂  xllWil 3R=RI5t 3tR •

(^) 3{^ 4I«WHI 3Pit4 :

<ldHI ^ cTT^I

(^) «Hiti<*^ mR^ri

(t) 3qy^ ̂ di| <^<515^"! l§n3g^i

(^) clcg^ iiHWch) TO33^I

(^) 3?g5jf^ TTibrm 1^ 3i^

4. 4KcJdl SI^Hcbl ̂  1^3^ T 3ltop!f ̂ 3) :
10x4=40

(^) R«l*^ ^<sn "Srf^j^nRT ^<&H0: %-%
3Tra?2ra>?fi guf^r

A16/545 ( Continued )

t

(la) ̂  TI33T :

(i) ^ '#3i'

^n; ^l[SrM4)l ̂  xrqi^RT ̂

^ill]/ 1lf5%S ̂

(tt) MR^mi 1^ ^<ai^3§V

(a) mai^ ̂  trrot ̂ R<ft ̂ ? i^rrs^t^i

(^) ';3?ih' t '3^' ̂ ir?T^ %-^R?n Tn1¥s3?
l^TTS^I

(^) ̂ RTRT % "^ T ̂  ychK«bl 3^^?

(^) Mrq-Mctil MR»jmi 1^ ^alHchlO
7R133^I

★ ★ ★
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ALTERNATIVE ENGLISH

( Non-fictional Prose )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate jiill mark^
for the questions

1. Answer the followmg questions very briefly :
1x10=10

(a) Name the title Sir Roger lias been given.

(b) What is elocution?

fc) Who was the co-author of Charles Lamb
in Poetry for Children?

(d) Give the meaning of Reverie.

(e) Who was Attila?

ff) Who was Junius?

(g) Who was the first non-European to
receive the Nobel Prize in literature?

A16/536 ( Thm Over )

;



( 2 )

(h) When did Tagore open Vishwa Bharati
University?

(i) Who is a teetotaller?

(j) Name the theory devised by Sigmund
Freud.

2. Answer any five of the following questions :
2x5=10

(a) Who . was Sir Roger?

(b) Write two features of autobiographical
essay.

(c) Who was Michelangelo?

(d) Write a brief note on Shantiniketan.

(e) Who is a hypochondriac?

(f) What is psychoanalysis?

3. Answer any three of the following questions :
10x3=30

(a) What is the author's impression of
Sir Roger's house in the country?

(b) Comment on the use of humour and
pathos in Lamb's essays with special
reference to Dream Children—A Reverie?

4.

( 3 )

(c) What led Rabindranath Tagore to write
a letter to Mahatma Gandhi? What sort

of friendship did they share?

(d) State Gandhi's view in support of the
Non-Cooperation Movement.

Explain with reference to the context of any
three of the following : 5x3=15

(a) In any case, since they admit that
'scientific analysis of objective reality' is
possible, they must admit that it is
possible to have opinions which are
rational in an objective sense.

(b) Power in all its forms is irrational—^it is
like the horse that drags the carriage
blindfolded.

(c) Everything is good or bad, helpful or
deadly not in itself, but by its
circumstances.

(d)

1^)

A16/536 ( Continued ) A16/536

'A parrot may by taught to call names'
and if the person who keeps the parrot
has a spite for his neighbours, he may
give them a great deal of annoyance
without much wit, either in the ^
employer or the puppet.

I had more pleasure in these busy-idle
diversions than in all the sweet flavours

of peaches, nectarines, oranges and
such like common baits of children.
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( 4 )

5. Write an essay on any one of the following
topics :

(a) India of my dreams

(b) Friendship

(c) Women empowerment

(d) Role of media in nation-building

(e) Disaster management

★ ★ ★
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BODO

( Modem Indian Language )

Full Marks : 80

Time : 3 hours

"I

The figures in the margin indicate full marks
for the questions

Answer in Bodo

1. tTlqlq : 1x10=10

(^) to' ̂

(IT) 3TNlOPl 1^TOT

(V) 'wf^' BETTOR ^ M>Vmw41?

(■^) iTRf^RT ^

(■^) iTRf^RT I^RRR?

(^) «dmP» 3TT^?
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(^) "5SRFI ^ "m?

(^) (^Rni 3^1^?

{^) ̂ iqidPl i^JTT 3TKt ieFTRT^ "5^ ̂ ?

2x5=10

(^) WRH 1^ 3m# ! % "TOmr
3# Tint

(^) ̂  3# *T5^Tmmm ̂mrf^ 3iMm
■|siT

(^) m ^?imT 1^

(^) eftm "^rk? 1^ ^iki% 3mmm wrfr ^

3. Mi^Npi til<;jM^<.Pl «imRa-^Ni h1*i^ ^ * 5x4=2o
(^) 1^ tnk 3n ^

■RpTi^^m Hi«sdi 3# 4# «TniR

(15) #cnm i5Rmm -^mrA 3# t# ##
frnkti t ^ ̂  ^ %qji;int
■rorf^ 3i#i#r

(4) "5T "3TO %5kf 5kr5Ti" %
■^Tk ^dkf^ krTT3T5 "fro "^simT
X5n^ m ̂ sfi^^nlkkr ^Ptmrn I

A16/633B ( Continued )

{ 3 )

(^) ^^jTrnmi" %^T?niit^'4raT
^ki^ kmrsm ^^Nhr? «ni5m ^
WITTRh^T ̂  *m51

(^) 'tern 3# #r' ̂ dHif^ S4>Ni^ 3m|
■f^i

(^) '^5#^ #akR «Tm' ^ ̂ dciici ^
^sm#r ̂  M>lmw 1

4. wm?i^¥mTPRTl^i 10

^dMlPl ^4>NI^ ^ 3# Hl^dNPl 3m|1^f^i 10

5. 'fern 3# ^dHI^I m ^TWT# ^^Tdm ^
^d<l 10

%n5 3# 3n^ 1^ I 10

6. "^5#^ iliikH to' '3nd#' ̂  ̂TdTO
«n?ni^ m^TPmr #11 lo

7. '3Tmkt' ^ WTO ^IJkTOTO 3TR|tpkl#t
10

★ ★ ★
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ASSAMESE

( Modem Indian Language )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full mgrks
for the questions

:  >x>o=>o

(■^) CTO ?

(^) ^ 1% ?

(-jf) mDH I

1^?

(«) m i"
CTO?, ̂  ^

^  (^) 'CWRR' ^ -^bRvsl CTO ?
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■^^5

(^) *^"^^11 ^ ?

^  I

(^) -vo^' 1% ?
^ I :

-S^ ^IWti5K ^ r^TOTW

'^^(WC^^) .

^  2f«fR ^ I
( Continued )

«X8=^o

A16/B39

( 3 )

(^) '^^fRrT' -i|ij<p^e|^ I

(ts) <]'Si^<figj ^'RTPR
%cm W I

(^) ^5T^* TO ^l^-i Dpi^n fi«R>

g I (^) 'CWCfMT' ijicsrc^ ci*£p^]^^?, R>tC^
21R)^P1v3 to W I >o

WW

^Pi%T ■>lHl'sf^ 7f^ C^®R®R?
<]l(:iJNHr ^ ^IHIHl ̂  I io

('if) "siRiJC^S XST^ ^511^ v5|^
b^<^A ̂  ̂  '^<=m^ei<i' ^iwiHi ?rf^ «Ki I >0

^sj^^fl^' 2r*fH oRii]c"[?l RcSRI^ 1 io

(^) >o

A16/539

^»RTPT5 1^f^ C^ COT
<PlR^C^l C^sl^n^ "^51^ ^cf^IT 1 io
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( 4 )

4 I ^ ^ ^

(^) •'iR^ £f^n : "wn

(^) Tfi^ci ^5f|^

:H)

(^) ^sn^ «qi\si^i^
>'.•

,  (i.

★ ★ ★ •-, *" , ■•

i^F rv^<'«-i,r-

c  , , ';%• ih'^iK'lP- (f'tW M# ■

♦!:?• ijT^-^.,) jGcj^y !S3{F^i»£^'

' .■•"^ ',V

" ♦ t>t> . ;i -•': -1^ •

- If;-; • ffr^. • ri\r^ ■

V^.y i"*sfihr
'  •" ■ /.u' ;

A16—62*7539 3 (Sem-4) ASM MIL


